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FIRST SEMESTER M.Com. DEGREE (REGULAR/SUPPLEMENTARY)
EXAMINA'IION, NO\rEMBEIÈ 2O2L

lNovember 2020 session for SDEÆrivate Students]

(C.BCSS)

M.Com.

MOM 1C O5-ADVANCED MANAGEM!]N'I' AOCOUNTING

(2019 Admission onwards)

{Covid instructions are not applicable for PVT/SDE student¡. (Noiembe¡ 2020 session))

Time : Three Hours

General I4structions

L ltt cases wlrcre c.h.oic¿s are prouided, studeùts cati. (ittend. all questiorzs in.eàch se.ctiott.

2. The minimu.rn numl:er òf qùestiòns to be attended, frotn the Section / Part sh.all remaín the sante.
:. .:. .,

3. Tlrc instrt¿ction if (Lny, to dttend a.mini,¡num nt¿mber òf questions ft'oni ècich sub section / sub part I
st¿b diuision may bìà ignored.

4. Theie wiUbe an ouerall ceíIing for each Section /Part tltàt is equiualent to tlrc møximum weightage
of lhe Scctiott /Parl.

part, A

A¡tsuer atty lotur questiotts.

Each qu.estion carries 2 Laeiglttage.

1. What is totaì qúâlity management ?

2. What is BaÌance Score Card ?

3. What is simulaiion ?

4. What is labour efhcienc¡r variance ?

5. Whai is standard cost ?
..

6. Whât is responsibility aòcounting ?

7. What is bogey standald ? .. .

(4 x 2 = I weightage)
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Part R

Ansucr any four gltcsliolls

Each cptestiott cctries 3 weightage

g. G Ltd. Prorìuces ancl sells 95,000 units of 'x ìn a yeaÌ at its 80 7o pÌoduction capacity The selling

price of prod.ct is {. 8 per unit, The va¡iable 
"o"i 

is 75 7o of sales price per unit, The fixed cost is

{. 3,50,000, The compàny is iòntinuously incuriing losses arid managcment plans to shtrt dowlì

the plant. The frxecl cost is exþòcied to be reduced to {. 1,30,000. Additional costs of plant shut

down are expccted at {. 15,000 :

Should the plant be shut down ? Whàt is thc capacity level of prod-ugtign of shut down point ?

9. Dxplain the ski.lls required for a rnanagenent accountant ?

10. A cornpany has a contribution-/sales ratio of 40 o/a.7t maintàins à margin ò(safety of 20o/o.If ils

amruaÌ fixed cost ämount to {. 24 lakhs, calculatè its (i) Break-Even sales ; (ii) Margin of safety;

(iii) Total saÌes ; (iv) TotaL variable costs ; and iv) Profit

11. You are given the fqllowing information regarding twir proposals X âncl Y : 
. , .

Project X Project Y

Estimatedcost .:.

Eipòcted cash inflows{before depreciâtion and tax)

l"t year end

2"d year end

3td vear end

2 5,000

15,0 0 0

10,000

5,000

25,000

3,000

7,000

2 0,000

Examine which project is preferable under NPV criterian

Ralc of discount is I ozo

P.V. factor at 8 ok : 0.926, 0'857, 0.794

12. Difference between traditional bùclget and perforÌnànce budget ?

150354



3

13'Theexpensesf'ortheproductionofS00unitsinafactoryaregivenasfollows:
Per Unit

80

60

15

10

10

10

Materiaì

Labour

Variable overhead (factorY)

Fixed factorY overhead (5'000)

Administrative expenses (20 lo vaÃable)

Selling and distribution expenses (50 o/o ftxed)

185
Total Per unit cost

You are required to prepare a budget for 600 unit also'

Briefly explain different types of financial risk ?

Part C

Answer øn'Y two questions'

Each question carries 5 weightøge'

ThusharLtd'Providesyouthefollowinginformation'

Fixed Expenses {' 4,000' Break-Even Point {' 10'000

You are required to calculate :

(a) P/V Ratio ;

(b) Profrt when sales are ¡'20'000 ;

(c) Sales to earn Profrt of ¡'6'000 ;

(d) New Break-Even point if selling price is reduced by 20 Vo ; and

(e) New Break Even Point if variable cost is increased by 25 7o'
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(4x3=L2weightage)
14.

15,
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Aclvise the

77.

4

Project P ancl Q arc analysecl and vou have determined the follo..,ving parameters.
investor on the choice of a project :

Particulars Project P Project Q

Investment

Project life

Construction period

Cost ofcapital

N.P.V @ 12 7o

N.P.V @ L8 Vo

Rate of return

Payback

B.E.P

Profrtability index

{.7 Cr.

I ycars

3 years

15 o/o

T.3,700

{.325

45 Vo

IB 7o

4 years

45 Vo

I.76

T. 5 Cr.

L0 years

3 Years

IBVo

{. 4,565

{.325

32 o/o

25 o/o

6 years

30 Vo

1.35

From t'he following records of Bonuscrew Ltd., yoil are required. to compute the material and labour
variance :

L tonne of material input yields a standard output of 1 Lakh units.

Number of employees is 200

The standard wage rate per employee per day is t. 6.

Standard price of material is {. 20 per kg

Actual quantity of material issued by production department 10 tonnes.

Actual price of material is { . 21 per kg.

Actual output is g lakh units.

Actual wage rate per day is {. 6.50

Standard daily output per employee is 100 units.

Total number of day worked is 50

Idle time paid for and included above is Vz day.

Discuss the application of marginal costing technique ?18.
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(2x5=l0weightage)


